

$$y(x_1, x_2) \rightarrow \max$$

$$\text{s.t. } f(x_1, x_2) = 0 \quad (1)$$

logique:

$$(1) f=0 \Leftrightarrow df=0 \Leftrightarrow 0 = \frac{\partial f}{\partial x_1} dx_1 + \frac{\partial f}{\partial x_2} dx_2 \Rightarrow (\text{Taylor})$$

$$\Leftrightarrow dx_2 = \frac{-\frac{\partial f}{\partial x_1}}{\frac{\partial f}{\partial x_2}} dx_1 \quad (2)$$

2.

$$(1) \Leftrightarrow dy = \frac{\partial y}{\partial x_1} dx_1 + \frac{\partial y}{\partial x_2} dx_2 \Rightarrow$$

Taylor

$$\Leftrightarrow dy = \frac{\partial y}{\partial x_1} dx_1 + \left(\frac{-\frac{\partial f}{\partial x_1}}{\frac{\partial f}{\partial x_2}} \right) dx_1 \frac{\partial y}{\partial x_2} +$$

$$\Leftrightarrow dy = \frac{\partial y}{\partial x_1} \left[1 + \frac{-\frac{\partial f}{\partial x_1}}{\frac{\partial f}{\partial x_2}} \frac{\partial y}{\partial x_2} \right] dx_1$$

$$\text{Οπ}, \quad \lambda = \frac{-\frac{\partial y}{\partial x_2}}{\frac{\partial f}{\partial x_2}}$$



$$dy = \left[\frac{\partial y}{\partial x_1} + \lambda \frac{\partial f}{\partial x_1} \right] dx_1$$

y^* απρόβλεπτο \Rightarrow ψάχνω λ που να το έβγαζε

$$dy = 0 \quad (\Leftrightarrow) \quad \frac{\partial y}{\partial x_1} + \lambda \frac{\partial f}{\partial x_1} = 0$$

$$\Leftrightarrow \frac{\partial (y + \lambda f)}{\partial x_1} = 0$$

Αν ορίσω $\mathcal{L} = y + \lambda f,$

x
απόβλεπτο

$$\mathcal{L}, \quad \textcircled{1} \frac{\partial \mathcal{L}}{\partial x_1} = 0$$

$$\textcircled{2} \frac{\partial \mathcal{L}}{\partial x_2} = 0$$

και

$$\left. \begin{array}{l} \textcircled{3} \frac{\partial \mathcal{L}}{\partial \lambda} = 0 \\ \text{για να} \\ \text{βρούμε} \\ \text{το } \lambda \end{array} \right\}$$

Ergebnis not/oder

Lagrange:

$$\max f(x_1, x_2)$$

$$\text{s.t. } f(x_1, x_2) = k$$

f=0
f'=f-k=k
no problem

$$\frac{\partial f}{\partial k} = \frac{\partial f}{\partial x_1} \frac{\partial x_1}{\partial k} + \frac{\partial f}{\partial x_2} \frac{\partial x_2}{\partial k}, \quad (1)$$

Ab hier nicht mehr!

~~Handwritten scribbles~~

$$f = f(k) \quad \frac{\partial f}{\partial k} = f'(k) = \frac{\partial f}{\partial x_1} \frac{\partial x_1}{\partial k} + \frac{\partial f}{\partial x_2} \frac{\partial x_2}{\partial k} - 1 = 0$$

~~Handwritten scribbles~~

$$\frac{\partial f}{\partial k} = \dots$$

2. λ ~~...~~

(1) +

$$\frac{\partial y}{\partial K} = -\lambda + \lambda \left(\frac{\partial f}{\partial x_1} \frac{\partial x_1}{\partial K} + \frac{\partial f}{\partial x_2} \frac{\partial x_2}{\partial K} \right) + \frac{\partial y}{\partial x_1} \frac{\partial x_1}{\partial K} + \frac{\partial y}{\partial x_2} \frac{\partial x_2}{\partial K}$$

= 0 or $\lambda = 0$

$$\Rightarrow \frac{\partial y}{\partial K} = -\lambda + \left(\frac{\partial y}{\partial x_1} + \lambda \frac{\partial f}{\partial x_1} \right) \frac{\partial x_1}{\partial K} +$$

$$+ \left(\frac{\partial y}{\partial x_2} + \lambda \frac{\partial f}{\partial x_2} \right) \frac{\partial x_2}{\partial K} \Rightarrow$$

\Rightarrow or $\lambda = 0$

$$\frac{\partial y}{\partial K} = -\lambda = 0$$

~~By first order condition~~

= (y ())
Lagrange